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619 451

Which one of the following made the Indian Legislature Bicameral?
  

(A) Indian Councils Act, 1909
  

(B) Government of India Act, 1919
  

(C) Government of India Act, 1935
  

(D) Indian Independence Act, 1947

(B)

619 452

Indian Constitution recognises minorities on the basis of
  

(A) religion
  

(B) caste
  

(C) population
  

(D) colour

(A)

619 453

When can a President use his discretion in appointing the Prime Minister?
  

(A) When emergency is promulgated
  

(B) In no circumstances
  

(C) Only when the Lok Sabha has been dissolved
  

(D) When no political party enjoys a clear majority in the Lok Sabha

(D)

619 454

Make the correct response:
  

(A) It is the duty of the Prime Minister to communicate all decisions of the Council of Ministers to the President,
whenever he requires

  
(B) The Prime Minister need not communicate all decisions to the President

  
(C) It is not obligatory on the part of Prime Minister to communicate the decision to the President

  
(D) The President has power to remove any of the ministers at his pleasure

(A)

619 455

At a joint sitting of Parliament a bill has to be passed
  

(A) by a simple majority of the total number of members of both Houses
  

(B) by a two-thirds majority of the total number of members of both Houses
  

(C) by a simple majority of the total number of members of both Houses present and voting
  

(D) by a two-thirds majority of the total number of members of both Houses present and voting

(C)

619 456

In India, the power to increase the number of judges in the Supreme Court lies with:
  

(A) The President of India
  

(B) The Chief Justice of India
  

(C) The Union Ministry of Law
  

(D) The Parliament of India

(D)

619 457 Which of the following does not come under the purview of the Election Commission?
  

(A) To conduct the election of PM of India
  

(B) To conduct the election of President of India
  

(C) To give recognition to the political parties
 

(A)



 
(D) To assign election symbols to the political parties

619 458

Direction: In the question given below are two statements labelled as Assertion (A) and Reason (R). In the
context of the two statements, which of the following is correct?

 Assertion (A) : The adoption of uniform civil code, though mentioned in the Constitution of India, is yet to be
accomplished.

 Reason (R) : Directive principles are non-justiciable
  

(A) Both A and R are true and R is the correct explanation of A
  

(B) Both A and R are true but R is not the correct explanation of A
  

(C) A is true but R is false
  

(D) A is false but R is true

(B)

619 459

Direction: In the question given below are two statements labelled as Assertion (A) and Reason (R). In the
context of the two statements, which of the following is correct?

 Assertion (A) : By amendment, Parliament cannot destroy the basic features of the Constitution
 Reason (R) : The power to amend does not include the power to abrogate the Constitution

  
(A) Both A and R are true and R is the correct explanation of A

  
(B) Both A and R are true but R is not the correct explanation of A

  
(C) A is true but R is false

  
(D) A is false but R is true

(A)

619 460

Direction: In the question given below are two statements labelled as Assertion (A) and  Reason (R). In the
context of the two statements, which of the following is correct?

 Assertion (A) : Panchayati Raj institutions were set up to decentralise planning to village level
 Reason (R) : Village Panchayats are in a better position to have a proper appreciation of their development needs

  
(A) Both A and R are true and R is the correct explanation of A

  
(B) Both A and R are true but R is not the correct explanation of A

  
(C) A is true but R is false

  
(D) A is false but R is true

(A)

619 461

Direction: In the question given below are two statements labelled as Assertion (A) and  Reason (R). In the
context of the two statements, which of the following is correct?

 Assertion (A) : President is the head of state in India
 Reason (R) : Indian Parliament consists of President, Lok Sabha and Rajya Sabha 

  
(A) Both A and R are true and R is the correct explanation of A

  
(B) Both A and R are true but R is not the correct explanation of A

  
(C) A is true but R is false

  
(D) A is false but R is true

(B)

619 462

Direction: In the question given below are two statements labelled as Assertion (A) and Reason (R). In the
context of the two statements, which of the following is correct? Assertion (A) : The Rajya Sabha cannot reject a
Finance Bill

 Reason (R) : A Finance Bill is ordinarily a Money Bill in terms of Article 110 of the Constitution
  

(A) Both A and R are true and R is the correct explanation of A
  

(B) Both A and R are true but R is not the correct explanation of A
  

(C) A is true but R is false
  

(D) A is false but R is true

(A)

619 463 An offence under Section 138 of Negotiable Instrument Act relating to Dishonour of Cheque is
  

(A) Compoundable
  

(B) Non- Compoundable
  

(C) Compoundable with permission of the Court

(A)



 
(D) None of the above

619 464

India's first court-annexed mediation centre, was established in
  

(A) Delhi
  

(B) Tamil Nadu
  

(C) Kerela
  

(D) Karnataka

(B)

619 465

Withdrawing medical treatment with the deliberate intention of causing the patient's death is called
  

(A) Legal Euthanasia
  

(B) Medical Euthanasia
  

(C) Passive Euthanasia
  

(D) None of the above

(C)

619 466

The precise formulation of specific accusation made against a person who is entitled to know its nature at the
earliest is called

  
(A) FIR

  
(B) Charge sheet

  
(C) Police Report

  
(D) Charge

(D)

619 467

The concept of Public Interest Litigation (PIL) lies in the maxim
  

(A) Fiat Justicia
  

(B) Pro bono publico
  

(C) Audi alteram partem
  

(D) Rule against Bias

(B)

619 468

Who is the author of the book ' The Indian Supreme Court and Politics’?
  

(A) V.R.Krishna Iyer
  

(B) A.Lakshminath
  

(C) Upendra Baxi
  

(D) Laxmi Mal Singhvi

(C)

619 469

Which of the following is not a function of the International Court of Justice?
  

(A) To give advisory opinion at the request of general Assembly
  

(B) To give advisory opinion at the request of Security Council
  

(C) To interpret treaties when considering legal disputes brought before it by nations
  

(D) To decide international crimes

(D)

619 470

Who among the following former Law Ministers of India wrote the book “Law, Lawyers and Judges”?
  

(A) H.R. Bharadwaj
  

(B) Shanti Bhushan
  

(C) Arun Jaitley
  

(D) Ram Jethmalani

(A)



619 471 A garnishee is
  

(A) The judgment debtor
  

(B) Judgment debtor's debtor
  

(C) Judgment debtor's creditor
  

(D) (A) The banker of the judgment debtor

(B)

619 472

Which among the following has been described as the soul of the Indian Constitution?
  

(A) Preamble
  

(B) Fundamental Rights
  

(C) Directive Principles
  

(D) Judicial Review

(A)

619 473

Which one is not a qualification for appointment as a High Court Judge?
  

(A) Citizen of India
  

(B) Practising Advocate for 5 years
  

(C) Practising Advocate for 10 years
  

(D) Judicial officer of 10 years standing

(B)

619 474

Which one of the following law was not enacted before independence?
  

(A) Indian Penal Code
  

(B) Indian Contract Act
  

(C) Prevention of Corruption Act
  

(D) Indian Evidence Act

(C)

619 475

The freedom of press are covered under which article of the Constitution (Implicitly)?
  

(A) Article 19
  

(B) Article 20
  

(C) Article 21
  

(D) Article 22

(A)

619 476

When the master is held liable for the wrongful act of his servant, the liability is
  

(A) absolute
  

(B) strict
  

(C) transferred
  

(D) vicarious

(D)

619 477

The term “Caveat Emptor” means
  

(A) Let the buyer beware
  

(B) Let the seller beware
  

(C) let the manufacturer beware
  

(D) let the producer beware

(A)

619 478 The term “Caveat Venditor ” means
  

(A) Let the buyer beware
  

(B) Let the seller beware

(B)



 
(C) let the manufacturer beware

  
(D) ) let the producer beware

619 479

Which of the following writ petitions can be used against private individuals
  

(A) Quo Warranto
  

(B) Certiorari
  

(C) Mandamus
  

(D) Habeas Corpus

(D)

619 480

Who is Amicus Curiae?
  

(A) He is party to the case
  

(B) He is the friend of the parties
  

(C) He is the extended arm of the court
  

(D) He is the friend of the court, to provide assistance

(D)

619 481

 

  
(A) a-1, b-2, c-3, d-4

  
(B) a-4, b-3, c-2, d-1

  
(C) a-2, b-3, c-1, d-4

  
(D) a-2, b-3, c-4, d-1

(B)

619 482

“Veto” power in the United Nations is exercised by
  

(A) Permanent member of the security of council
  

(B) Non-permanent member of the Security Council
  

(C) Members of the general assembly
  

(D) Judges of the international court of judges

(A)

619 483

Theft is an offence against
  

(A) Moveable property
  

(B) Immovable property
  

(C) Both movable and immovable property
  

(D) Either movable or immovable property

(A)

619 484

Who of the following acts as the chief legal advisor to the Government of India?
  

(A) The Solicitor General of India
  

(B) Chief Justice of India
  

(C) Attorney General of India
  

(D) The union law minister

(C)

619 485 Ancient Treaties on law is
  

(A) Vedas
 

(C)



 
(B) Smritis

  
(C) Upanishads

  
(D) Shrutis

619 486

Tort is a species of
  

(A) Criminal Wrong
  

(B) Civil wrong with breach of contracts
  

(C) Civil wrong without breach of contract
  

(D) Moral wrong

(C)

619 487

Which among the following is not a fundamental rights?
  

(A) Right to equality
  

(B) Freedom of speech and expression
  

(C) Right to life and personal liberty
  

(D) Right to property

(D)

619 488

Can a woman be charged under the offence of adultery?
  

(A) Yes
  

(B) No
  

(C) Circumstantially
  

(D) None of the above

(B)

619 489

Finance Commission is a
  

(A) Statutory authority
  

(B) Constitutional authority
  

(C) Non-statutory authority
  

(D) Judicial authority

(C)

619 490

Where one party is in a position to dominate the will of another and uses his superior position to obtain the
consent of a weaker party, the consent is said to be under

  
(A) Undue influence

  
(B) Fraud

  
(C) Misrepresentation

  
(D) Coercion

(A)

619 491

All-India Services come under Article
  

(A) 310
  

(B) 312
  

(C) 316
  

(D) 319

(B)

619 492 What is the duration of 'zero hour' in Lok Sabha?
  

(A) 15 minutes
  

(B) Half-an-hour
  

(C) One hour

(D)



 
(D) Not specified

619 493

35th Law Commission report recommended that children below…………...years of age at the time of
commission of offence shall not be sentenced to death

  
(A) 18

  
(B) 14

  
(C) 21

  
(D) 07

(A)

619 494

The Constitution of Indian was adopted on
  

(A) January 26, 1950
  

(B) January 26, 1949
  

(C) November 26, 1949
  

(D) December 31, 1949

(C)

619 495

Ombudsman institution was originated in
  

(A) Denmark
  

(B) Switzerland
  

(C) Sweden
  

(D) France

(C)

619 496

Which schedule of the Indian Constitution deals with Anti Corruption Law?
  

(A) 8th Schedule
  

(B) 3rd Schedule
  

(C) 7th Schedule
  

(D) 10th Schedule

(D)

619 497

In which of the following case Supreme Court regarded Preamble as part of the basic structure of the
Constitution?

  
(A) Maneka Gandhi case

  
(B) A.K. Kripak case

  
(C) A.K. Gopalan case

  
(D) Keshavananda Bharati case

(D)

619 498

In which of the following cases the Supreme Court ruled that the Constitutional amendments are also laws under
Article 13 of the Constitution?

  
(A) Keshavananda Bharati case

  
(B) Minerva Mills case

  
(C) Golakhnath case

  
(D) T.A. Pai Vs Union of India

(C)

619 499 The maximum number of the Council of Ministers
  

(A) has been specified in the Constitution
  

(B) is determined by the President/Governor
  

(C) is determined by the Prime Minister
 

(A)



 
(D) is determined by the Parliament

619 500

Present Chairman of the Law Commission of India is
  

(A) Philipose Chrysostom
  

(B) Justice R.M. Lodha
  

(C) Balbir Singh Chauhan
  

(D) Mohan S. Bhatia

(C)

619 501

Four different electronic devices make a beep after every 30 minutes, 1 hour, 1½ hour and 1 hour 45 minutes
respectively. All the devices beeped together at 12 noon. They will again beep together at

  
(A) 12 midnight

  
(B) 3 am

  
(C) 6 am

  
(D) 9 am

(D)

619 502

Which of the following fractions is greater than ¾ and less than 5/6 ?
  

(A) 1/2
  

(B) 2/3
  

(C) 4/5
  

(D) 9/10

(C)

619 503

What is the smallest number to be subtracted from 549162 in order to make it a perfect square?
  

(A) 28
  

(B) 36
  

(C) 62
  

(D) 81

(D)

619 504

The average score of a cricketer for ten matches is 38.9 runs. If the average for the first six matches is 42, then
find the average for the last four matches.

  
(A) 33.25

  
(B) 33.5

  
(C) 34.25

  
(D) 35

(C)

619 505

The ratio between the sale price and the cost price of an article is 7:5. What is the ratio between the profit and the
cost price of that article?

  
(A) 2:7

  
(B) 5:2

  
(C) 7:2

  
(D) None of the above

(D)

619 506 What least number must be subtracted from each of the numbers 14, 17, 34 and 42 so that the remainders may be
proportional?

  
(A) 0

  
(B) 1

  
(C) 2

 

(C)



 
(D) 7

619 507

Running at the same constant rate, 6 identical machines can produce a total of 270 bottles per minute. At this
rate, how many bottles could 10 such machines produce in 4 minutes?

  
(A) 648

  
(B) 1800

  
(C) 2700

  
(D) 10800

(B)

619 508

A and B together can do a piece of work in 30 days. A having worked for 16 days, B finishes the remaining work
along in 44 days. In how many days shall B finish the whole work alone?

  
(A) 30 days

  
(B) 40 days

  
(C) 60 days

  
(D) 70 days

(C)

619 509

Two men start together to walk to a certain destination, one at 3 kmph and another at 3.75 kmph. The latter
arrives half an hour before the former. The distance is

  
(A) 6 km

  
(B) 7.5 km

  
(C) 8 km

  
(D) 9.5 km

(B)

619 510

A sum of money at simple interest amounts to Rs. 815 in 3 years and to Rs. 854 in 4 years. The sum is
  

(A) Rs.650
  

(B) Rs.690
  

(C) Rs.698
  

(D) Rs.700

(C)

619 511

The length of a rectangle is 18 cm and its breadth is 10 cm. When the length is increased to 25cm, what will be
the breadth of the rectangle if the area remains the same?

  
(A) 7 cm

  
(B) 7.1 cm

  
(C) 7.2 cm

  
(D) 7.3 cm

(C)

619 512

How many times do the hands of a clock coincide in a day?
  

(A) 20
  

(B) 21
  

(C) 22
  

(D) 24

(C)

619 513 Direction: The question below contains a statement on relationship and a question regarding relationship based
on the statement.

 Pointing to a photograph, a lady tells Ram, ‘I am the only daughter of this lady and her son is your maternal
uncle”. How is the speaker related to Ram’s father?

  
(A) Sister-in-law

  
(B) Wife

(B)



 
(C) Either (A) or (B)

  
(D) Neither (A) or (B)

619 514

Direction: The question below contains a statement on relationship and a question regarding relationship based
on the statement.

 Introducing a man, a woman said, “He is the only son of my mother’s mother”. How is the woman related to the
man?

  
(A) Mother

  
(B) Aunt

  
(C) Sister

  
(D) None of the above

(D)

619 515

Direction: The question below contains a statement on relationship and a question regarding relationship based
on the statement.

 Shyam said, “This girl is the wife of the grandson of my mother”. Who is Shyam to the girl?
  

(A) Father
  

(B) Grandfather
  

(C) Husband
  

(D) Father-in-law

(D)

619 516

Direction: The question below contains a statement on relationship and a question regarding relationship based
on the statement.

 Introducing a man to her husband, a woman said, “His brother’s father is the only son of my grandfather”. How is
the woman related to this man?

  
(A) Mother

  
(B) Aunt

  
(C) Sister

  
(D) Daughter

(C)

619 517

Statement: Should India encourage exports, when most things are insufficient for internal use itself?
 Arguments: I. Yes. We have to earn foreign exchange to pay for our imports

                     II. No. Even selective encouragement would lead to shortages
  

(A) Only argument I is strong
  

(B) Only argument II is strong
  

(C) Either I or II is strong
  

(D) Neither I nor II is strong

(A)

619 518

Statement: Should new big industries be started in Mumbai?
 Arguments :

 I. Yes. It will create job opprtunities
 II. No, It will further add to the pollution of the city

  
(A) Only argument I is strong

  
(B) Only argument II is strong

  
(C) Either I or II is strong

  
(D) Neither I nor II is strong

(C)

619 519 Statement: Should there be students union in college/university?
 Arguments: I. No. This will create a political atmosphere in the campus

                    II. Yes, it is very necessary Students are future political leaders
  

(A) Only argument I is strong
  

(B) Only argument II is strong
  

(D)



(C) Either I or II is strong
  

(D) Both I and II are strong

619 520

Statement: Should there be an upper age limit of 65 years for contesting Parliamentary/ Legislative Assembly
elections?

 Arguments: I. Yes. Generally, people above the age of 65 lose their dynamism and will power.
                    II. No. The life span is so increased that people remain physically and mentally active even up to the

age of 80.
  

(A) Only argument I is strong
  

(B) Only argument II is strong
  

(C) Either I or II is strong
  

(D) Neither I nor II is strong

(D)

619 521

Statement: Should Government close down loss-making public sector enterprises?
 Arguments: I. No. All employees will lose their jobs, security and earning, what would they do?

                    II. Yes. In a competitive world the rule is 'survival of the fittest'.
  

(A) Only argument I is strong
  

(B) Only argument II is strong
  

(C) Either I or II is strong
  

(D) Neither I nor II is strong

(A)

619 522

A two-digit number is three times the sum of its digits. If 45 is added to the number, its digits are interchanged.
The sum of the digits of the number is

  
(A) 5

  
(B) 7

  
(C) 9

  
(D) 11

(C)

619 523

The ages of Samir and Tanuj are in the ratio 8 : 15. After 9 years, the ratio of their ages will be 11 : 18. What is
the difference between their ages?

  
(A) 20 years

  
(B) 21 years

  
(C) 24 years

  
(D) 33 years

(B)

619 524

A man sold an article at a loss of 20%. If he sells the article for Rs. 12 more, he would have gained 10%. The
cost price of the article is

  
(A) Rs 60

  
(B) Rs 40

  
(C) Rs 30

  
(D) Rs 22

(B)

619 525

A shopkeeper sells a pair of sunglasses at a profit of 25%. If he had bought it at 25% less and sold it for Rs 10
less, then he would have gained 40%. The cost price of the pair of sunglasses is

  
(A) Rs 25

  
(B) Rs 50

  
(C) Rs 60

  
(D) Rs 75

(B)

619 526 Choose the correct synonym: EAGER (C)



 
(A) Clever

  
(B) Enthusiastic

  
(C) Curious

  
(D) Devoted

619 527

Choose the correct synonym: DUBIOUS
  

(A) Straight
  

(B) Sincere
  

(C) Zig zag
  

(D) Doubtful

(D)

619 528

Choose the correct synonym: ASSIMILATE
  

(A) Absorb
  

(B) Arrange
  

(C) Receive
  

(D) Assemble

(A)

619 529

Choose the correct synonym: SUMPTUOUS
  

(A) Lavish
  

(B) Fancy
  

(C) Meagre
  

(D) Irritable

(A)

619 530

Choose the correct Antonym: ONEROUS
  

(A) Straight forward
  

(B) Easy
  

(C) Complex
  

(D) Plain

(B)

619 531

Choose the correct Antonym: CONCEAL
  

(A) Unfold
  

(B) Reveal
  

(C) Open
  

(D) Discover

(B)

619 532

Select single word for a given phrase/sentence: A disease which ends in death
  

(A) Contagious
  

(B) Lethal
  

(C) Fatal
  

(D) Deadly

(C)

619 533 Select single word for a given phrase/sentence: One who deserts his religion?
  

(A) Deserter
  

(B) Turn coat
  

(D)



(C) Fanatic
  

(D) Apostate

619 534

Select single word for a given phrase/sentence: Member of a band of robbers
  

(A) Dacoit
  

(B) Brigand
  

(C) Thief
  

(D) Pirate

(B)

619 535

Choose from the four alternatives the words which best complete the sentence:
 To be …………….. I think you did not do the right thing.

  
(A) Clever

  
(B) free

  
(C) frank

  
(D) straight

(C)

619 536

Choose from the four alternatives the words which best complete the sentence:
 The old gentleman ……………….. to be a very good friend of my grandfather.
  

(A) Turned out
  

(B) turned over
  

(C) turned up
  

(D) turned in

(A)

619 537

**** CASE QN ****
 Direction: Ordering of Sentences:

 In this section each item consists of six sentences of a passage. The first and sixth sentences are given in the
beginning as S1 and S6. The middle four sentences in each have been jumbled up and labelled P,Q,R and S. You
are required to find the proper sequence of the four sentences and choose your response accordingly

 **** CASE QN ****
  

S1: Isaac’s mother married again.
 S6: He had a set of little tools and saw of various sizes made by himself.

  
P: But he was known to be very clever at making things.

 Q: She sent him to school.
 R: Isaac was left to the care of his good old grandmother.

 S: In his early years Isaac did not appear to be a very bright student.  
  

The correct sequence should be:
  

(A) R Q S P
  

(B) Q R S P
  

(C) S Q R P
  

(D) R P Q S

(D)

619 538 **** CASE QN ****
 Direction: Ordering of Sentences:

 In this section each item consists of six sentences of a passage. The first and sixth sentences are given in the
beginning as S1 and S6. The middle four sentences in each have been jumbled up and labelled P,Q,R and S. You
are required to find the proper sequence of the four sentences and choose your response accordingly

 **** CASE QN ****
  

S1: The examination system must be regarded as the chief wrecker of young nerves.
 S6: It I become a Vice-Chancellor, my first act would be to abolish all examinations in my university.

  
P: It makes me jump out of the bed, all in a sweat.

 Q: It does this by building up a tension, for a part of the year, all through one’s youth.
 R: And after four decades, the same nervousness sometimes recurs to me in nightmares.

 S: I remember the desperate nervousness that used to grip me from January to April every year.
  

The correct sequence should be:

(D)



 
(A) R P Q S

  
(B) R S P Q

  
(C) R Q P S

  
(D) Q S R P

619 539

**** CASE QN ****
 Direction: Ordering of Sentences:

 In this section each item consists of six sentences of a passage. The first and sixth sentences are given in the
beginning as S1 and S6. The middle four sentences in each have been jumbled up and labelled P,Q,R and S. You
are required to find the proper sequence of the four sentences and choose your response accordingly

 **** CASE QN ****
  

S1: History is a subject that is so little valued today that it is almost impossible to win world fame as a historian;
yet that is exactly what Toynbee was able to.

 S6: Among the civilizations that he studied was that of India.
  

P: We usually think of history as a chronological account of the development of various states and empires under
ruler.

 Q: Toynbee’s view of history was different.
 R: He tries to find the pattern behind the birth, growth and decay of civilization.

 S: Though he used the recorded history of mankind, but he was interested not merely in the chronology of single
states or group but in the rise and fall of whole civilizations.

  
The correct sequence should be:

  
(A) P S Q R

  
(B) Q S P R

  
(C) S Q R P

  
(D) P Q S R

(A)

619 540

**** CASE QN ****
 Direction : Ordering of words in a sentence:

 Each of the following items in this section consists of a sentence, the parts of which have been jumbled. These
parts have been labelled P, Q, R and S. Given below each sentence are four sequences namely (i), (ii),(iii) and
four.Your are required to rearrange jumbled parts of the sentence and choose your response correctly

 **** CASE QN ****
  

Last summer everyday (P) / kept pestering a pretty girl (Q) / one persistent admirer (R) / with phone calls (S).
 The correct sequence should be

  
(A) Q R S P

  
(B) R S Q P

  
(C) R Q S P

  
(D) P Q R S

(C)

619 541

**** CASE QN ****
 Direction : Ordering of words in a sentence:

 Each of the following items in this section consists of a sentence, the parts of which have been jumbled. These
parts have been labelled P, Q, R and S. Given below each sentence are four sequences namely (i), (ii),(iii) and
four.Your are required to rearrange jumbled parts of the sentence and choose your response correctly

 **** CASE QN ****
  

In many cultures to make wishes come true (P) / that blue has the power (Q) / people believe (R) and be
successful in life (S).

 The correct sequence should be
  

(A) P S R Q
  

(B) R S P Q
  

(C) R Q P S
  

(D) S Q P R

(C)

619 542 **** CASE QN ****
 Direction : Ordering of words in a sentence:

 Each of the following items in this section consists of a sentence, the parts of which have been jumbled. These
parts have been labelled P, Q, R and S. Given below each sentence are four sequences namely (i), (ii),(iii) and

(C)



four.Your are required to rearrange jumbled parts of the sentence and choose your response correctly
 **** CASE QN ****

  
From a picnic table through the playground (P) / while we unpacked a basket (Q) / we watched them laugh and
leap (R ) / bulging with sandwiches and cookies (S).

 The correct sequence should be
  

(A) R S Q P
  

(B) Q P R S
  

(C) R P Q S
  

(D) Q S R P

619 543

**** CASE QN ****
 Direction : Ordering of words in a sentence:

 Each of the following items in this section consists of a sentence, the parts of which have been jumbled. These
parts have been labelled P, Q, R and S. Given below each sentence are four sequences namely (i), (ii),(iii) and
four.Your are required to rearrange jumbled parts of the sentence and choose your response correctly

 **** CASE QN ****
  

My father retired at the age of 68, where he had served, (P) / in South Carolina (Q) / as Pastor for 12 years (R
)from a Baptist Church (S).

 The correct sequence should be
  

(A) P R S Q
  

(B) S Q P R
  

(C) S P Q R
  

(D) Q P R S

(B)

619 544

**** CASE QN ****
 Direction : Ordering of words in a sentence:

 Each of the following items in this section consists of a sentence, the parts of which have been jumbled. These
parts have been labelled P, Q, R and S. Given below each sentence are four sequences namely (i), (ii),(iii) and
four.Your are required to rearrange jumbled parts of the sentence and choose your response correctly

 **** CASE QN ****
  

The completion it enables employees to feel a sense of accomplishment (P) / and makes them take pride in their
work; (Q) / of high quality products (R) / also enhances employee satisfaction(S)

  The correct sequence should be
  

(A) P Q R S
  

(B) R Q P S
  

(C) P S R Q
  

(D) R S P Q

(D)

619 545

Direction: Fill in the blanks –The following sentence has a blank space and four words or group of words given
after the sentence. Select whichever word or group of words you consider most appropriate for the blank space.

 At times he gets very angry, and then no one can ………… him.
  

(A) Prevent
  

(B) humour
  

(C) mollify
  

(D) satisfy

(C)

619 546

Direction: Fill in the blanks –The following sentence has a blank space and four words or group of words given
after the sentence. Select whichever word or group of words which you consider most appropriate for the blank
space.

 If Mohan ………… at 5 a.m., he would not have missed the train.
  

(A) started
  

(B) had started
  

(C) would start
  

(D) has started

(B)



619 547 Direction: Fill in the blanks – The following sentence has a blank has a blank space and four words or group of
words given after the sentence. Select whichever word or group of words you consider most appropriate for the
blank space.

  
His persistence in his misdemeanours has lowered him in the ………… of everyone who knows him.

  
(A) eyes

  
(B) estimation

  
(C) estimate

  
(D) esteem

(A)

619 548

Direction: Fill in the blanks –The following sentence has a blank has a blank space and four words or group of
words given after the sentence. Select whichever word or group of words you consider most appropriate for the
blank space.

  
The clouds of suspicion will clear ………… soon.

  
(A) up

  
(B) away

  
(C) off

  
(D) by

(C)

619 549

Direction Choose the correct meaning of the idiom.
 To cool one’s heels

  
(A) To close the chapter

  
(B) To walk on the heels

  
(C) To kick someone with the heels

  
(D) To wait and rest for some time

(D)

619 550

Direction Choose the correct meaning of the idiom.
 To bury the hatchet

  
(A) To fight with the hatchet

  
(B) To forget the enmity

  
(C) To bury the treasure under ground

  
(D) To pick up enmity

(B)

619 551 **** CASE QN ****
 Direction: Read the following passage carefully and answer the questions.

Antigone was one of the daughters of Oedipus, that tragic figure of male power, who had been cursed by Gods
for mistakenly killing his father and subsequently marrying his mother and assuming the throne of Thebes. After
the death of Oedipus, civil war broke out and a battle was waged in front of the seventh gate of Thebes and his
two sons led opposing factions and at the height of the battle fought and killed each other. Oedipus brother,
Creon, uncle of Antigone, was now undisputed master of the city. Creon resolved to make an example of the
brother Polynices, who had fought against him, by refusing the right of honourable burial. The penalty of death
was promulgated against any, who should defy this order.

Antigone was distraught. Ploynices had been left unburied, unwept, a feast of flesh for keen eyed carrion birds.
Antigone asks her sister Ismene, for it was a challenge to her royal blood. “Now it is time to show whether or not
you are worthy of your royal blood. Is he not my brother and yours? Whether you like it or not, I shall never
desert him-never!” But Ismeme responds, “How could you dare – when Creon has expressly forbidden it?
Antigone, we are women, it is not for us to fight against men. With a touch of bitterness, Antigone releases her
sister from the obligations to help her, but argues she cannot shrug off the burden. “If I die for it what happiness !
Live, if you will live, and defy the holiest of laws of heaven”.

 
**** CASE QN ****

  
Why did Antigone decide to defy the orders of Creon?

  
(A) She loved her brother

  
(B) She was to give an honourable burial to her brother

 

(C)



 
(C) She felt she was bound by her heavenly obligation

  
(D) To teach Creon a lesson

619 552

**** CASE QN ****
 Direction: Read the following passage carefully and answer the questions.

Antigone was one of the daughters of Oedipus, that tragic figure of male power, who had been cursed by Gods
for mistakenly killing his father and subsequently marrying his mother and assuming the throne of Thebes. After
the death of Oedipus, civil war broke out and a battle was waged in front of the seventh gate of Thebes and his
two sons led opposing factions and at the height of the battle fought and killed each other. Oedipus brother,
Creon, uncle of Antigone, was now undisputed master of the city. Creon resolved to make an example of the
brother Polynices, who had fought against him, by refusing the right of honourable burial. The penalty of death
was promulgated against any, who should defy this order.

Antigone was distraught. Ploynices had been left unburied, unwept, a feast of flesh for keen eyed carrion birds.
Antigone asks her sister Ismene, for it was a challenge to her royal blood. “Now it is time to show whether or not
you are worthy of your royal blood. Is he not my brother and yours? Whether you like it or not, I shall never
desert him-never!” But Ismeme responds, “How could you dare – when Creon has expressly forbidden it?
Antigone, we are women, it is not for us to fight against men. With a touch of bitterness, Antigone releases her
sister from the obligations to help her, but argues she cannot shrug off the burden. “If I die for it what happiness !
Live, if you will live, and defy the holiest of laws of heaven”.

 
**** CASE QN ****

  
What, in your opinion, would have been the logical end of the story?

  
(A) Antigone might have agreed with her sister and refrained from giving a burial to Polynices

  
(B) Antigone might have been allowed by Creon to give a decent burial to her brother

  
(C) Antigone might have defied the order of Creon but forgiven by him

  
(D) Antigone might have been executed for defying the order of the king

(D)

619 553

**** CASE QN ****
 Direction: Read the following passage carefully and answer the questions.

Antigone was one of the daughters of Oedipus, that tragic figure of male power, who had been cursed by Gods
for mistakenly killing his father and subsequently marrying his mother and assuming the throne of Thebes. After
the death of Oedipus, civil war broke out and a battle was waged in front of the seventh gate of Thebes and his
two sons led opposing factions and at the height of the battle fought and killed each other. Oedipus brother,
Creon, uncle of Antigone, was now undisputed master of the city. Creon resolved to make an example of the
brother Polynices, who had fought against him, by refusing the right of honourable burial. The penalty of death
was promulgated against any, who should defy this order.

Antigone was distraught. Ploynices had been left unburied, unwept, a feast of flesh for keen eyed carrion birds.
Antigone asks her sister Ismene, for it was a challenge to her royal blood. “Now it is time to show whether or not
you are worthy of your royal blood. Is he not my brother and yours? Whether you like it or not, I shall never
desert him-never!” But Ismeme responds, “How could you dare – when Creon has expressly forbidden it?
Antigone, we are women, it is not for us to fight against men. With a touch of bitterness, Antigone releases her
sister from the obligations to help her, but argues she cannot shrug off the burden. “If I die for it what happiness !
Live, if you will live, and defy the holiest of laws of heaven”.

 
**** CASE QN ****

  
What was the status of women in the contemporary society? They

  
(A) were liberated

  
(B) could have taken their own decisions

  
(C) considered themselves inferior and subordinate to men

  
(D) claimed equality to men

(C)

619 554 **** CASE QN ****
 Direction: Read the following passage carefully and answer the questions.

Antigone was one of the daughters of Oedipus, that tragic figure of male power, who had been cursed by Gods
for mistakenly killing his father and subsequently marrying his mother and assuming the throne of Thebes. After
the death of Oedipus, civil war broke out and a battle was waged in front of the seventh gate of Thebes and his
two sons led opposing factions and at the height of the battle fought and killed each other. Oedipus brother,
Creon, uncle of Antigone, was now undisputed master of the city. Creon resolved to make an example of the
brother Polynices, who had fought against him, by refusing the right of honourable burial. The penalty of death
was promulgated against any, who should defy this order.

(C)



Antigone was distraught. Ploynices had been left unburied, unwept, a feast of flesh for keen eyed carrion birds.
Antigone asks her sister Ismene, for it was a challenge to her royal blood. “Now it is time to show whether or not
you are worthy of your royal blood. Is he not my brother and yours? Whether you like it or not, I shall never
desert him-never!” But Ismeme responds, “How could you dare – when Creon has expressly forbidden it?
Antigone, we are women, it is not for us to fight against men. With a touch of bitterness, Antigone releases her
sister from the obligations to help her, but argues she cannot shrug off the burden. “If I die for it what happiness !
Live, if you will live, and defy the holiest of laws of heaven”.

 
**** CASE QN ****

  
A carrion bird is a bird

  
(A) Of prey

  
(B) Which eats human flesh

  
(C) Which eats dead bodies

  
(D) Which eats only grain

619 555

**** CASE QN ****
 

Direction : Read the passage and answer the questions based on it. You are required to select your answers based
on the contents of the passage and opinion of the author only.

Passage

For many years, ship captains navigating the waters of Antarctica have been intrigued by sightings of emerald
icebergs. Scientists have now explained their mystery. There icebergs are turned upside down. Icebergs are
blocks of ice that have broken off huge slabs of frozen snow called ice shelves. Their green appearance results
from sea water that has frozen at the bottom over hundreds of years. The frozen sea water has dissolved organic
matter which gives it a yellow tone and the fresh water ‘ice shelf’ above has a blue tinge. When the iceberg turns
upside down, it appears green through the visual mix of yellow with the blue from below.

 
**** CASE QN ****

  
What is the meaning of ‘intrigued’?

  
(A) Surprised

  
(B) Fascinated

  
(C) Muffled

  
(D) Repulsed

(B)

619 556

**** CASE QN ****
 

Direction : Read the passage and answer the questions based on it. You are required to select your answers based
on the contents of the passage and opinion of the author only.

Passage

For many years, ship captains navigating the waters of Antarctica have been intrigued by sightings of emerald
icebergs. Scientists have now explained their mystery. There icebergs are turned upside down. Icebergs are
blocks of ice that have broken off huge slabs of frozen snow called ice shelves. Their green appearance results
from sea water that has frozen at the bottom over hundreds of years. The frozen sea water has dissolved organic
matter which gives it a yellow tone and the fresh water ‘ice shelf’ above has a blue tinge. When the iceberg turns
upside down, it appears green through the visual mix of yellow with the blue from below.

 
**** CASE QN ****

  
What are ice shelves?

  
(A) They are huge pieces of chunks of ice

  
(B) They are frozen sea water

  
(C) They are pieces of ice which look like shelves

  
(D) They are huge pieces of ice which are very old

(A)

619 557 **** CASE QN ****
 

Direction : Read the passage and answer the questions based on it. You are required to select your answers based
on the contents of the passage and opinion of the author only.

(A)



Passage

For many years, ship captains navigating the waters of Antarctica have been intrigued by sightings of emerald
icebergs. Scientists have now explained their mystery. There icebergs are turned upside down. Icebergs are
blocks of ice that have broken off huge slabs of frozen snow called ice shelves. Their green appearance results
from sea water that has frozen at the bottom over hundreds of years. The frozen sea water has dissolved organic
matter which gives it a yellow tone and the fresh water ‘ice shelf’ above has a blue tinge. When the iceberg turns
upside down, it appears green through the visual mix of yellow with the blue from below.

 
**** CASE QN ****

  
What are ice icebergs?

  
(A) Huge chunks of ice floating on water

  
(B) Frozen sea water

  
(C) Green ice

  
(D) Green yellow water below and blue above

619 558

**** CASE QN ****
 

Direction : Read the passage and answer the questions based on it. You are required to select your answers based
on the contents of the passage and opinion of the author only.

Passage

For many years, ship captains navigating the waters of Antarctica have been intrigued by sightings of emerald
icebergs. Scientists have now explained their mystery. There icebergs are turned upside down. Icebergs are
blocks of ice that have broken off huge slabs of frozen snow called ice shelves. Their green appearance results
from sea water that has frozen at the bottom over hundreds of years. The frozen sea water has dissolved organic
matter which gives it a yellow tone and the fresh water ‘ice shelf’ above has a blue tinge. When the iceberg turns
upside down, it appears green through the visual mix of yellow with the blue from below.

 
**** CASE QN ****

  
When the iceberg turns upside down, it appears

  
(A) Green

  
(B) Yellow

  
(C) Blue

  
(D) White

(A)

619 559

**** CASE QN ****
 Direction: Go through the passage and answer the questions give below:

 Passage :
 Recent advances in science and technology have made it possible for geneticists to find out abnormalities in the

unborn foetus and take remedial action to rectify some defects which would otherwise prove to be fatal to the
child. Though genetic engineering is still at its infancy, scientists can now predict with greater accuracy a genetic
disorder. It is not yet an exact science since they are not in a position to predict when exactly a genetic disorder
will set in. While they have not yet been able to change the genetic order of the gene in germs, they are optimistic
and are holding out that in the near future they might be successful in achieving this feat. They have, however,
acquired the ability in manipulating tissue cells. However, genetic mis-information can sometimes be damaging
for it may adversely affect people psychologically. Genetic information can therefore be abused and its
application in deciding the sex of the foetus and its subsequent abortion is now hotly debated on ethical lines. But
on this issue geneticists cannot be squarely blamed though the charge has often been levelled at them. It is mainly
a societal problem. At present genetic engineering is a costly process of detecting disorders but scientists hope to
reduce the costs when technology becomes more advanced. This is why much progress in this area has been
possible in scientifically advanced and rich countries like U.S.A, U.K and Japan. It remains to be seen if in the
future this science will lead to the development of a race of supermen or will be able to obliterate disease from
this world

 **** CASE QN ****
  

Which of the following is true regarding the reasons for progress in genetic engineering?
  

(A) It has become popular to abort female foetuses.
  

(B) Human beings are extremely interested in heredity
  

(C) Economically sound and scientifically advanced countries can provide the infrastructure for such research
  

(D) Poor countries desperately need genetic information

(C)



619 560 **** CASE QN ****
 Direction: Go through the passage and answer the questions give below:

 Passage :
 Recent advances in science and technology have made it possible for geneticists to find out abnormalities in the

unborn foetus and take remedial action to rectify some defects which would otherwise prove to be fatal to the
child. Though genetic engineering is still at its infancy, scientists can now predict with greater accuracy a genetic
disorder. It is not yet an exact science since they are not in a position to predict when exactly a genetic disorder
will set in. While they have not yet been able to change the genetic order of the gene in germs, they are optimistic
and are holding out that in the near future they might be successful in achieving this feat. They have, however,
acquired the ability in manipulating tissue cells. However, genetic mis-information can sometimes be damaging
for it may adversely affect people psychologically. Genetic information can therefore be abused and its
application in deciding the sex of the foetus and its subsequent abortion is now hotly debated on ethical lines. But
on this issue geneticists cannot be squarely blamed though the charge has often been levelled at them. It is mainly
a societal problem. At present genetic engineering is a costly process of detecting disorders but scientists hope to
reduce the costs when technology becomes more advanced. This is why much progress in this area has been
possible in scientifically advanced and rich countries like U.S.A, U.K and Japan. It remains to be seen if in the
future this science will lead to the development of a race of supermen or will be able to obliterate disease from
this world

 **** CASE QN ****
  

Which of the following is the same in meaning as the word 'obliterate' as used in the passage?
  

(A) wipe off
  

(B) eradicate
  

(C) give birth to
  

(D) wipe out

(B)

619 561

**** CASE QN ****
 Direction: Go through the passage and answer the questions give below:

 Passage :
 Recent advances in science and technology have made it possible for geneticists to find out abnormalities in the

unborn foetus and take remedial action to rectify some defects which would otherwise prove to be fatal to the
child. Though genetic engineering is still at its infancy, scientists can now predict with greater accuracy a genetic
disorder. It is not yet an exact science since they are not in a position to predict when exactly a genetic disorder
will set in. While they have not yet been able to change the genetic order of the gene in germs, they are optimistic
and are holding out that in the near future they might be successful in achieving this feat. They have, however,
acquired the ability in manipulating tissue cells. However, genetic mis-information can sometimes be damaging
for it may adversely affect people psychologically. Genetic information can therefore be abused and its
application in deciding the sex of the foetus and its subsequent abortion is now hotly debated on ethical lines. But
on this issue geneticists cannot be squarely blamed though the charge has often been levelled at them. It is mainly
a societal problem. At present genetic engineering is a costly process of detecting disorders but scientists hope to
reduce the costs when technology becomes more advanced. This is why much progress in this area has been
possible in scientifically advanced and rich countries like U.S.A, U.K and Japan. It remains to be seen if in the
future this science will lead to the development of a race of supermen or will be able to obliterate disease from
this world

 **** CASE QN ****
  

Which of the following is not true of the genetic engineering movement?
  

(A) Possibility of abuse
  

(B) It is confronted by ethical problems
  

(C) Increased tendency to manipulate gene cells
  

(D) Acquired ability to detect genetic disorders in unborn babies

(C)

619 562 **** CASE QN ****
 Direction: Go through the passage and answer the questions give below:

 Passage :
 Recent advances in science and technology have made it possible for geneticists to find out abnormalities in the

unborn foetus and take remedial action to rectify some defects which would otherwise prove to be fatal to the
child. Though genetic engineering is still at its infancy, scientists can now predict with greater accuracy a genetic
disorder. It is not yet an exact science since they are not in a position to predict when exactly a genetic disorder
will set in. While they have not yet been able to change the genetic order of the gene in germs, they are optimistic
and are holding out that in the near future they might be successful in achieving this feat. They have, however,
acquired the ability in manipulating tissue cells. However, genetic mis-information can sometimes be damaging
for it may adversely affect people psychologically. Genetic information can therefore be abused and its
application in deciding the sex of the foetus and its subsequent abortion is now hotly debated on ethical lines. But
on this issue geneticists cannot be squarely blamed though the charge has often been levelled at them. It is mainly
a societal problem. At present genetic engineering is a costly process of detecting disorders but scientists hope to
reduce the costs when technology becomes more advanced. This is why much progress in this area has been
possible in scientifically advanced and rich countries like U.S.A, U.K and Japan. It remains to be seen if in the
future this science will lead to the development of a race of supermen or will be able to obliterate disease from
this world

 **** CASE QN ****
 

(B)



 
Why, according to the author, is genetic misinformation severely damaging?

 A. The cost involved is very high.
 B. Some people are unjustly branded as inferior.

  
(A) A only

  
(B) B only

  
(C) Both A and B

  
(D) Neither A nor B

619 563

**** CASE QN ****
 Direction: Go through the passage and answer the questions give below:

 Passage :
 Recent advances in science and technology have made it possible for geneticists to find out abnormalities in the

unborn foetus and take remedial action to rectify some defects which would otherwise prove to be fatal to the
child. Though genetic engineering is still at its infancy, scientists can now predict with greater accuracy a genetic
disorder. It is not yet an exact science since they are not in a position to predict when exactly a genetic disorder
will set in. While they have not yet been able to change the genetic order of the gene in germs, they are optimistic
and are holding out that in the near future they might be successful in achieving this feat. They have, however,
acquired the ability in manipulating tissue cells. However, genetic mis-information can sometimes be damaging
for it may adversely affect people psychologically. Genetic information can therefore be abused and its
application in deciding the sex of the foetus and its subsequent abortion is now hotly debated on ethical lines. But
on this issue geneticists cannot be squarely blamed though the charge has often been levelled at them. It is mainly
a societal problem. At present genetic engineering is a costly process of detecting disorders but scientists hope to
reduce the costs when technology becomes more advanced. This is why much progress in this area has been
possible in scientifically advanced and rich countries like U.S.A, U.K and Japan. It remains to be seen if in the
future this science will lead to the development of a race of supermen or will be able to obliterate disease from
this world

 **** CASE QN ****
  

In the passage, 'abused' means
  

(A) insulted
  

(B) talked about
  

(C) killed
  

(D) misused

(D)

619 564

**** CASE QN ****
 Direction: Go through the passage and answer the questions give below:

 Passage :
 Recent advances in science and technology have made it possible for geneticists to find out abnormalities in the

unborn foetus and take remedial action to rectify some defects which would otherwise prove to be fatal to the
child. Though genetic engineering is still at its infancy, scientists can now predict with greater accuracy a genetic
disorder. It is not yet an exact science since they are not in a position to predict when exactly a genetic disorder
will set in. While they have not yet been able to change the genetic order of the gene in germs, they are optimistic
and are holding out that in the near future they might be successful in achieving this feat. They have, however,
acquired the ability in manipulating tissue cells. However, genetic mis-information can sometimes be damaging
for it may adversely affect people psychologically. Genetic information can therefore be abused and its
application in deciding the sex of the foetus and its subsequent abortion is now hotly debated on ethical lines. But
on this issue geneticists cannot be squarely blamed though the charge has often been levelled at them. It is mainly
a societal problem. At present genetic engineering is a costly process of detecting disorders but scientists hope to
reduce the costs when technology becomes more advanced. This is why much progress in this area has been
possible in scientifically advanced and rich countries like U.S.A, U.K and Japan. It remains to be seen if in the
future this science will lead to the development of a race of supermen or will be able to obliterate disease from
this world

 **** CASE QN ****
  

Which of the following is the opposite in meaning to the word “charged” as used in the passage ?
  

(A) calm
  

(B) disturbed
  

(C) discharged
  

(D) settled

(D)

619 565 **** CASE QN ****
 Direction: Go through the passage and answer the questions give below:

 Passage :
 Recent advances in science and technology have made it possible for geneticists to find out abnormalities in the

unborn foetus and take remedial action to rectify some defects which would otherwise prove to be fatal to the
child. Though genetic engineering is still at its infancy, scientists can now predict with greater accuracy a genetic

(C)



disorder. It is not yet an exact science since they are not in a position to predict when exactly a genetic disorder
will set in. While they have not yet been able to change the genetic order of the gene in germs, they are optimistic
and are holding out that in the near future they might be successful in achieving this feat. They have, however,
acquired the ability in manipulating tissue cells. However, genetic mis-information can sometimes be damaging
for it may adversely affect people psychologically. Genetic information can therefore be abused and its
application in deciding the sex of the foetus and its subsequent abortion is now hotly debated on ethical lines. But
on this issue geneticists cannot be squarely blamed though the charge has often been levelled at them. It is mainly
a societal problem. At present genetic engineering is a costly process of detecting disorders but scientists hope to
reduce the costs when technology becomes more advanced. This is why much progress in this area has been
possible in scientifically advanced and rich countries like U.S.A, U.K and Japan. It remains to be seen if in the
future this science will lead to the development of a race of supermen or will be able to obliterate disease from
this world

 **** CASE QN ****
  

Which of the following is the same in meaning as the word 'squarely' as used in the passage ?
  

(A) rigidly
  

(B) firmly
  

(C) directly
  

(D) at right angle

619 566

**** CASE QN ****
 Direction: Go through the passage and answer the questions give below:

 Passage :
 Recent advances in science and technology have made it possible for geneticists to find out abnormalities in the

unborn foetus and take remedial action to rectify some defects which would otherwise prove to be fatal to the
child. Though genetic engineering is still at its infancy, scientists can now predict with greater accuracy a genetic
disorder. It is not yet an exact science since they are not in a position to predict when exactly a genetic disorder
will set in. While they have not yet been able to change the genetic order of the gene in germs, they are optimistic
and are holding out that in the near future they might be successful in achieving this feat. They have, however,
acquired the ability in manipulating tissue cells. However, genetic mis-information can sometimes be damaging
for it may adversely affect people psychologically. Genetic information can therefore be abused and its
application in deciding the sex of the foetus and its subsequent abortion is now hotly debated on ethical lines. But
on this issue geneticists cannot be squarely blamed though the charge has often been levelled at them. It is mainly
a societal problem. At present genetic engineering is a costly process of detecting disorders but scientists hope to
reduce the costs when technology becomes more advanced. This is why much progress in this area has been
possible in scientifically advanced and rich countries like U.S.A, U.K and Japan. It remains to be seen if in the
future this science will lead to the development of a race of supermen or will be able to obliterate disease from
this world

 **** CASE QN ****
  

According to the author, the present state of knowledge about heredity has made geneticists
  

(A) introspective
  

(B) accusative
  

(C) arrogant
  

(D) optimistic

(D)

619 567 **** CASE QN ****
 Direction: Go through the passage and answer the questions give below:

 Passage :
 Recent advances in science and technology have made it possible for geneticists to find out abnormalities in the

unborn foetus and take remedial action to rectify some defects which would otherwise prove to be fatal to the
child. Though genetic engineering is still at its infancy, scientists can now predict with greater accuracy a genetic
disorder. It is not yet an exact science since they are not in a position to predict when exactly a genetic disorder
will set in. While they have not yet been able to change the genetic order of the gene in germs, they are optimistic
and are holding out that in the near future they might be successful in achieving this feat. They have, however,
acquired the ability in manipulating tissue cells. However, genetic mis-information can sometimes be damaging
for it may adversely affect people psychologically. Genetic information can therefore be abused and its
application in deciding the sex of the foetus and its subsequent abortion is now hotly debated on ethical lines. But
on this issue geneticists cannot be squarely blamed though the charge has often been levelled at them. It is mainly
a societal problem. At present genetic engineering is a costly process of detecting disorders but scientists hope to
reduce the costs when technology becomes more advanced. This is why much progress in this area has been
possible in scientifically advanced and rich countries like U.S.A, U.K and Japan. It remains to be seen if in the
future this science will lead to the development of a race of supermen or will be able to obliterate disease from
this world

 **** CASE QN ****
  

What is the tone of the author in the last sentence of the passage?
  

(A) resignation
  

(B) cautious
 

(B)



 
(C) relief

  
(D) concern

619 568

**** CASE QN ****
 Direction: Go through the passage and answer the questions give below:

 Passage: 
 The martyrs, who laid down their lives for the freedom of the country, had a lofty vision of the future. They

wanted our nation to be free from all the slavery and bondage. They wanted an India in which all the
communities would live in perfect harmony and in which there would be no high class and no low class of
people, the curse of untouchability having been wiped out completely. Women would enjoy equal rights with
men and contribute their fullest to the making of a great nation. Such a vision was in keeping with the ancient
glory of the country renowned for its splendid achievements in literature, art and culture, we must now revitalise
this ancient culture of ours with tolerance as its masthead. If we forget or cease to take pride in our noble
heritage, we shall have to face severe indictment in the court of history which is ruthless judge and seldom spares
the erring people.

 **** CASE QN ****
  

The martyrs who died for the freedom of India wanted.
  

(A) the country to rule over the other nations
  

(B) the country to be strongest nation in the world.
  

(C) the people to give up their antiquated customs
  

(D) the country to be free from slavery

(D)

619 569

**** CASE QN ****
 Direction: Go through the passage and answer the questions give below:

 Passage: 
 The martyrs, who laid down their lives for the freedom of the country, had a lofty vision of the future. They

wanted our nation to be free from all the slavery and bondage. They wanted an India in which all the
communities would live in perfect harmony and in which there would be no high class and no low class of
people, the curse of untouchability having been wiped out completely. Women would enjoy equal rights with
men and contribute their fullest to the making of a great nation. Such a vision was in keeping with the ancient
glory of the country renowned for its splendid achievements in literature, art and culture, we must now revitalise
this ancient culture of ours with tolerance as its masthead. If we forget or cease to take pride in our noble
heritage, we shall have to face severe indictment in the court of history which is ruthless judge and seldom spares
the erring people.

 **** CASE QN ****
  

The martyrs wanted that
  

(A) there should be reservation in the jobs for the backward sections of the society
  

(B) there should be perfect communal love and peace in the country
  

(C) the old caste system should be retained in the future
  

(D) the women should look after their families only

(B)

619 570

**** CASE QN ****
 Direction: Go through the passage and answer the questions give below:

 Passage: 
 The martyrs, who laid down their lives for the freedom of the country, had a lofty vision of the future. They

wanted our nation to be free from all the slavery and bondage. They wanted an India in which all the
communities would live in perfect harmony and in which there would be no high class and no low class of
people, the curse of untouchability having been wiped out completely. Women would enjoy equal rights with
men and contribute their fullest to the making of a great nation. Such a vision was in keeping with the ancient
glory of the country renowned for its splendid achievements in literature, art and culture, we must now revitalise
this ancient culture of ours with tolerance as its masthead. If we forget or cease to take pride in our noble
heritage, we shall have to face severe indictment in the court of history which is ruthless judge and seldom spares
the erring people.

 **** CASE QN ****
  

Our freedom fighters envisioned that in free India
  

(A) women would enjoy higher privileges and rights than others
  

(B) the country would be taken forward by some selected classes of the society
  

(C) industrialisation should occupy the top priority
  

(D) there would be an egalitarian society

(D)

619 571 **** CASE QN **** (B)



Direction: Go through the passage and answer the questions give below:
 Passage: 

 The martyrs, who laid down their lives for the freedom of the country, had a lofty vision of the future. They
wanted our nation to be free from all the slavery and bondage. They wanted an India in which all the
communities would live in perfect harmony and in which there would be no high class and no low class of
people, the curse of untouchability having been wiped out completely. Women would enjoy equal rights with
men and contribute their fullest to the making of a great nation. Such a vision was in keeping with the ancient
glory of the country renowned for its splendid achievements in literature, art and culture, we must now revitalise
this ancient culture of ours with tolerance as its masthead. If we forget or cease to take pride in our noble
heritage, we shall have to face severe indictment in the court of history which is ruthless judge and seldom spares
the erring people.

 **** CASE QN ****
  

We must strive with our total commitment to
  

(A) defeat and overcome the enemies of the nation
  

(B) revitalise our rich past culture
  

(C) inject scientific temper into our past culture
  

(D) make scientific advancements

619 572

**** CASE QN ****
 Direction: Go through the passage and answer the questions give below: 

 Passage:
 Most of us use the products of science - railway, aeroplanes, electricity, wireless and thousands of others without

thinking how did they come into existence. We take them for granted, as if we are entitled to them as a matter of
right. And we are very proud of the fact that we live in an advanced age and are ourselves so very advance. Now,
there is no doubt that our age is a very different from previous ages and I think it is perfectly correct to say that it
is far more advanced. But that is a different thing from saying that we as individuals or groups are more
advanced. It would be the height of absurdity to say that because an engine driver can run an engine and Plato or
Socrates could not, the engine driver is more advanced than, or is superior to, Plato or Socrates. But it would be
perfectly correct to say that the engine itself is a more advanced method of locomotion than Plato's chariot was.

 **** CASE QN ****
  

Which among the following statement is correct?
  

(A) an engine driver cannot be compared to Plato and Socrates
  

(B) Plato and Socrates surpassed the engine driver in every respect
  

(C) Plato or Socrates is in no way inferior to engine driver
  

(D) an engine driver is cleverer than Plato or Socrates

(A)

619 573

**** CASE QN ****
 Direction: Go through the passage and answer the questions give below: 

 Passage:
 Most of us use the products of science - railway, aeroplanes, electricity, wireless and thousands of others without

thinking how did they come into existence. We take them for granted, as if we are entitled to them as a matter of
right. And we are very proud of the fact that we live in an advanced age and are ourselves so very advance. Now,
there is no doubt that our age is a very different from previous ages and I think it is perfectly correct to say that it
is far more advanced. But that is a different thing from saying that we as individuals or groups are more
advanced. It would be the height of absurdity to say that because an engine driver can run an engine and Plato or
Socrates could not, the engine driver is more advanced than, or is superior to, Plato or Socrates. But it would be
perfectly correct to say that the engine itself is a more advanced method of locomotion than Plato's chariot was.

 **** CASE QN ****
  

People today are very proud because they
  

(A) take the products of science for granted
  

(B) live in a spiritually advanced age
  

(C) enjoy digital communication
  

(D) live in scientifically advanced age

(D)

619 574 **** CASE QN ****
 Direction: Go through the passage and answer the questions give below: 

 Passage:
 Most of us use the products of science - railway, aeroplanes, electricity, wireless and thousands of others without

thinking how did they come into existence. We take them for granted, as if we are entitled to them as a matter of
right. And we are very proud of the fact that we live in an advanced age and are ourselves so very advance. Now,
there is no doubt that our age is a very different from previous ages and I think it is perfectly correct to say that it
is far more advanced. But that is a different thing from saying that we as individuals or groups are more
advanced. It would be the height of absurdity to say that because an engine driver can run an engine and Plato or
Socrates could not, the engine driver is more advanced than, or is superior to, Plato or Socrates. But it would be

(B)



perfectly correct to say that the engine itself is a more advanced method of locomotion than Plato's chariot was.
 **** CASE QN ****

  
Many of us make use of machines

  
(A) with full knowledge of their genesis

  
(B) without knowing how were they invented

  
(C) with very little knowledge of their mechanism

  
(D) without any knowledge of their historical significance

619 575

**** CASE QN ****
 Direction: Go through the passage and answer the questions give below: 

 Passage:
 Most of us use the products of science - railway, aeroplanes, electricity, wireless and thousands of others without

thinking how did they come into existence. We take them for granted, as if we are entitled to them as a matter of
right. And we are very proud of the fact that we live in an advanced age and are ourselves so very advance. Now,
there is no doubt that our age is a very different from previous ages and I think it is perfectly correct to say that it
is far more advanced. But that is a different thing from saying that we as individuals or groups are more
advanced. It would be the height of absurdity to say that because an engine driver can run an engine and Plato or
Socrates could not, the engine driver is more advanced than, or is superior to, Plato or Socrates. But it would be
perfectly correct to say that the engine itself is a more advanced method of locomotion than Plato's chariot was.

 **** CASE QN ****
  

This passage, the writer mentions Plato and Socrates to emphasise that
  

(A) they had a great respect for learning
  

(B) they were men of great scholarship
  

(C) people as individuals in the modern age are not more advanced than their predecessors
  

(D) the engine is a better mode of locomotion than Plato's chariot

(D)

619 576

Which of the following is not a plantation crop?
  

(A) Coffee
  

(B) Rubber
  

(C) Sugarcane
  

(D) Tea

(C)

619 577

Golden Fibre refers to
  

(A) Silk
  

(B) Cotton
  

(C) Jute
  

(D) Nylon

(C)

619 578

India is divided into how many pin code zones
  

(A) Six
  

(B) Seven
  

(C) Eight
  

(D) Ten

(C)

619 579

Aviation fuel for jet aeroplanes consists of purified
  

(A) petrol
  

(B) kerosene
  

(C) gasoline
  

(D) Diesel

(B)



619 580 Which one of the following part of human brain is the regulating centre for swallowing and vomiting?
  

(A) Cerebellum
  

(B) Cerebrum
  

(C) Medulla oblongata
  

(D) Pons

(C)

619 581

Oncogene is responsible for:
  

(A) Fever
  

(B) typhoid
  

(C) malaria
  

(D) cancer

(D)

619 582

The place known as the roof of the world is
  

(A) Tibet
  

(B) Myanmar
  

(C) K-2
  

(D) Chittagong

(A)

619 583

The headquarters of Green Peace International is located at
  

(A) London
  

(B) Paris
  

(C) Vancouver
  

(D) Amsterdam

(D)

619 584

The first woman prime minister of Britain was
  

(A) Mona Linda
  

(B) Margaret Thatcher
  

(C) Margaret Hilton
  

(D) None of the above

(B)

619 585

The chairmanship/presidency of the UN Security Council rotates among the Council Members
  

(A) every 6 months
  

(B) every 3 months
  

(C) every year
  

(D) every month

(D)

619 586

Permanent Secretariat to coordinate the implementation of SAARC programme is located at
  

(A) Dhaka
  

(B) New Delhi
  

(C) Colombo
  

(D) Kathmandu

(D)

619 587 The Indian delegation to the first World Conference on Human Rights was led by
  

(A) Dr. Manmohan Singh
  

(B) Farooq Abdullah

(A)



 
(C) Dinesh Singh

  
(D) Alam Khan

619 588

Which one of the following is not related to disarmament?
  

(A) SALT
  

(B) NPT
  

(C) CTBT
  

(D) NATO

(D)

619 589

Which of the following describe correctly the Group of Seven Countries (G-7)?
  

(A) They are developing countries
  

(B) They are industrialized countries
  

(C) They are holding Atomic Bomb technology
  

(D) They are countries who can launch their own satellites

(B)

619 590

Pollution free source of energy is
  

(A) thermal energy
  

(B) nuclear energy
  

(C) wind energy
  

(D) All of the above

(C)

619 591

Protein is not available in which of the following?
  

(A) Meat
  

(B) Milk
  

(C) Rice
  

(D) Pulse

(C)

619 592

The largest producer of pulses in India is
  

(A) Uttar Pradesh
  

(B) Rajasthan
  

(C) Madhya Pradesh
  

(D) Maharashtra

(C)

619 593

The minimum annual temperature difference is found in
  

(A) Thiruvananthapuram
  

(B) Kochi
  

(C) Panaji
  

(D) Mumbai

(B)

619 594

The Russian Revolution took place in the year
  

(A) 1905
  

(B) 1909
  

(C) 1917
  

(D) 1927

(C)



619 595 Age of tree is estimated by
  

(A) its weight
  

(B) its height
  

(C) the number of annual ring
  

(D) the length of its root

(C)

619 596

Present Chief Justice of India is
  

(A) Justice R.C. Lahoti
  

(B) Justice Dipak Misra
  

(C) Justice T.S. Thakur
  

(D) Justice K.N. Singh

(B)

619 597

Home Ministry has appointed a 12 member inter-ministerial committee to take a final call on the playing of
National Anthem in cinema halls and public places. The committee is headed by

  
(A) Soloman Deksisa

  
(B) Justice Mitra

  
(C) B.R. Sharma

  
(D) Om Prakash Rawat

(C)

619 598

The first woman appointed to the ICC Board of Directors is
  

(A) Jhulan
  

(B) Aanchal
  

(C) Neelam Kapoor
  

(D) Indra Nooyi

(D)

619 599

Recipient of Padma Vibhushan Award for Art and Music in 2018 is
  

(A) Dr. Daviender Narang
  

(B) Prof. Sunaina Singh
  

(C) Lala Hardayal
  

(D) Ilaiya Raja

(D)

619 600

 

  
(A) 1-(d) 2-(c) 3-(b) 4-(a)

  
(B) 1-(c) 2-(b) 3-(a) 4-(d)

  
(C) 1-(d) 2-(b) 3-(a) 4-(c)

  
(D) 1-(a) 2-(b) 3-(c) 4-(d)

(A)


